S SOEBY
I FWAAS 0YINB HE(SYHY A/ ohY
CIol: M4 JIBIAIA BE

EERE)

SN BB S(EA) - MRAY - BES 0] &k o8 p[E-LN HlRE2
= AHE 2} 23,675,546 23,025,546 650,000
= 1,887,000 1,887,000 0
Xl 14,346,000 14,346,000 0
= 7,442,546 6,792,546 650,000
A= YD SHS (ol Lapbh/ol bt = 23,636,283 22,986,283 650,000
= 1,887,000 1,887,000 0
Xl 14,346,000 14,346,000 0
= 7,403,283 6,753,283 650,000
MAF D|IBAIE &3 10,334, 150 10,014,150 320,000
= 1,448,000 1,448,000 0
Xl 5,934,000 5,934,000 0
= 2,952,150 2,632,150 320,000
HEZFFOHENE 590,000 350,000 240,000
403 MRS S AH=01 A 590,000 350,000 240,000
01 AXISHMA=2E L 590,000 350,000 240,000
QJIAN=2E B2 90,000 0 90,000
dorst HOtAE &3 150,000 0 150,000
HAIHAHY MAd SO 216,000 136,000 80,000
403 MRS S K201 A 100,000 20,000 80,000
01 AXISHMA=2EE 100,000 20,000 80,000
OFXLHY MAZ X 80,000 0 80,000
J2=0g =4 7,516,593 7,456,593 60,000
= 439,000 439,000 0
Xl 4,641,000 4,641,000 0
= 2,436,593 2,376,593 60,000
HOFOIE HMAE 2cl 1,473,000 1,413,000 60,000
403 MRS S K201 A 1,464,000 1,404,000 60,000
01 AXISHMA=2E L 1,464,000 1,404,000 60,000
OX=EEsLAl K 60,000 0 60,000
FeANE T4 & 4= XML 5,785,540 5,515,540 270,000
Xl 3,771,000 3,771,000 0
< 2,014,540 1,744,540 270,000
A2 IS . RSIIEAE 2 BHZ2HH 694,240 484,240 210,000
308 AtXIHHSOIH 50,000 0 50,000
01 IXEHBAEES 50,000 0 50,000
Ot X8 L3 N& 50,000 0 50,000
403 MRS S K201 A 545,240 385,240 160,000
01 AXISHMA=2E L 545,240 385,240 160,000
O=2d1elg =4S EE HIDIEAIE 60,000 0 60,000
OLae EoalMyH &5 100,000 0 100,000
2SI o=y HH| 335,000 275,000 60,000
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